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Exercise 6

(Please return your solutions before Fr. 3.7.2009, 10h)

6.1. Fano resonance (10 points)

In the following we will consider a single-impurity level coupling to the conduction
band electrons. As a consequence of the hybridization of the impurity level with the
conduction electrons, the density of states of the conduction electrons at the impurity
level will develop a pseudogap. The Hamiltonian of the model reads:

H = Hc+Hd+thb = ZEkCLUCkU + GdZdidU + VZ(CLUdJ+dLCkJ).
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a) Show that the bare (Hp,, = 0)) single particle Green’s function for the d-electron
and the conduction electrons reads:
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The vertex diagram is given by A and the perturbative

expansion of the full conduction band electron Green’s function reads

s = + e — > — &—>—— +

b) Show by analysing the diagrams, that the scattering matrix 72(w), defined by
ko (W) = Gy (W) + G (W) T3 (W) Giy (),

is given by
To(w) = V?Ga(w), (1)

and show that the impurity self energy reads

So(w) =V Giow). (2)
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By introducing the width

F(e)=m Z V25(ex —€) = TN(e)V?, (3)



the sum of over k in (2) can be converted into an integral over frequencies. For a
broad conduction band of width D one can replace the conduction band density of

states (DOS), N(¢), by N(e) =~ N(ep) =: Ny and
[(e) =aNoV?=:T (4)
c) Use (2), (3) and (4) to calculate the retarded d-electron self energy ¥4 (w+i07).
(Hint: Use the Dirac identity). Argue why ReX%(w +i0") can be neglected and

show that the impurity DOS Ny(w) = —1ImG%(w+i0") has a Lorentzian form.
What is the width of the Lorentz peak?

d) Use (1) to calculate the retarded conduction electron Green’s function
G5, (w+i0T). By neglecting the real part of the bare conduction electron Green’s
function show that for the conduction electron DOS becomes

N(w) = ZAkJ(w):—%ZImGﬁU(e+iO+)

F2
= Nyl 11— .
0( (w—ed)2+F2)

6.2. Weakly disordered metal: Quantum transport theory (15 points)

In this exercise, we will discuss the conductivity of a weakly disordered metal on the
basis of quantum transport theory and derive a basic relation between the resistivity
and the single-particle scattering matrix. For that purpose, we consider the model
Hamiltonian of a pure metal containing a low concentration of impurities

H = Hy+ V,, = Zekcf(ck + ZVkvk,clT(ck,.
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Within linear response theory the conductivity (for 7" — 0) is given by (see Fig. 1)
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where ... denotes the disorder average. The derivation of Eqs. (5) and (6) will be
discussed in the tutorial. We assume the impurity concentration c;,,, to be low and

obtain
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a) In lowest approximation, we neglect the cross-linked diagrams and assume

GR(k K, 6) GAK Kk, ep) ~ GR(k, ep) GAk, ep) 6(k — k),

i.e., I'(k,ep) = k. Show that

Gli(k,ep) GA(k ep) ~ m76(ep — €)



and derive (¢, = k*/(2m))
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where N(€) = & >, 6(e — ¢) is the density of states per unit volume.

To include the main contributions from the cross-linked diagrams, we have to
find an expression for the vertez function I'(k,ep). From the diagrammatic

expansion (see Fig. 1(c)) we obtain (c;,,, — 0)
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T, (€) = (K'|T%(e)|k) is the matrix element of the scattering matrix 77, de-
fined via (cf. exercise 6.1)

GR = (RO 4 GROFRERO 9)
and T}%, (¢) the scattering matrix of a single impurity. Use (cf. exercise 6.1.)

T=V+VGV+..
and the matrix identity

A ~ ~

(1-A'—1-B) ' '=1-B)YA-B)(1-A)"
to derive from Eq. (9)
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Now we can include the vertex corrections into our calculation of the conductiv-
ity. From Egs. (5), (6) and (8) we are motivated to define I'(k, ) = k-v(k, €5).
Show that this yields
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Finally, derive

e etn
o = 3—722@277'1]\7(%) = %7’1. (11)

What is the physical meaning of the difference between Eq. (7) and Eq. (11)?
What is the relation between the resistivity and the scattering matrix?

6.3. Drude conductivity (5 points)

Now we will consider the classical Drude model of a gas of noninteracting electrons.
When applying an external electrical field E the current density is given by

J = 0-E = —neyv,

where n is conduction electron density and Vv is the average velocity of the electrons.
Let’s assume that the electrons are scattered off the heavy, immobile ions of the metal.
The average time between two scattering events shall be denoted by 7. Moreover,
we assume that, immediately after a scattering event, the direction of motion of an
electron is completely random. Between any two consecutive scattering events the
electrons get accelerated by the electric force F = —eyE. Show that the conductivity
then becomes

ein
o = —T.

This Drude conductivity was first obtained by P. Drude in 1900, long before the
discovery of a model of the atom and the formulation of quantum theory. Remarkably,
it is formally identical to the result obtained in the previous exercise by using quantum
transport theory.
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Figure 1: (a) An example of a diagram contributing to Eq. (5). Dashed lines denote
scattering events. (b) Diagrammatic representation of Eq. (6). The black triangle
denotes the vertex function I'(k, ep) containing all cross-linked parts. (c) An example
of a diagram contributing to I'(k, er).



